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PRACTICAL ENGLISH TEST FOR COLLEGES
LEVEL B
TEST 1

Part | Listening Comprehension (15 minutes)

Directions: This part is to test your listening ability. It consists of 3 sections.

Section A
Directions: This section is to test your ability to give proper answers to questions. There are 5
recorded questions in it. After each question, there is a pause. The questions will
be spoken 2 times. When you hear a question, you should decide on the correct an-
swer from the 4 choices marked A), B), C), and D) given in your test paper.
Then you should mark the corresponding letter on the Answer Sheet with a single
line through the centre.
Example: You will hear:
You will read: A) I'm not sure.
B) You're right.
C) Yes, certainly.
D) That’s interesting.
From the question we learn that the speaker is asking the listener to leave a message .
Therefore, C) Yes, certainly is the correct answer. You should mark C) on the
Answer Sheet. Now the test will begin .

1. A) Heis ill. B) He is pretty well, thank you.
C) He is fifteen. D) He is in Canada.
2. A) Mary. B) Which girl? C) Yes, Sheis. D) No, She isn’t.
3. A) My full name is Lucy Watson. B) It’s Watson.
C) Yes, Sir. D) It is in the room.
4. A) No, Ido. B) Yes, I do. C) Yes, I don’t. D) That’s all right.

5. A) People are enjoying the weather.




PR I 0. X E LS L §1

B) They are going to have something to say.
C) It’s going to rain this afterncon.
D) He needs to buy a raincoat.

Section B

Directions: This section is to test your ability to understand short dialogues. There are 5
recorded dialogues in it. After each dialogue, there is a recorded question. Both
the dialogues and questions will be spoken 2 times. When you hear a question, you
should decide on the correct answer from the 4 choices marked A), B), C) and
D) given in your test paper. Then you should mark the corresponding letter on the
Answer Sheet with a single line through the centre.

6. A) 8 years. B) 6 years. C) 2 years. D) 4 years.
7. A) She decided not to come. B) She was coming late.

C) She forgets to come. D) She forgets to tell me.
8. A) She disagrees with the man. B) She’s quite disappointed.

C) She didn’t hear what the man said. D) She is going to give up.
9. A) Post the forms. B) Fill in the forms.

C) Put the forms on the desk. D) Sign his name.
10. A) A salesman. B) An insurance agent.

C) A shoe repairman. D) A guide

Section C

Directions: In this section you will hear a recorded short passage. The passage is printed on the
test paper, but with some words or phrases missing. The passage will be read 3
times. During the second reading, you are required to put the missing words or
phrases on the Answer Sheet in order of the numbered blanks according to what you
hear. The third reading is for you to check your writing. Now the passage wrll
begin .

My'fz-lmily has been living in the same apartment for 16 years. A nice, quite old man used
tolive 11 . We got along very well with each other. 12 , the old man became weak in

health. He couldn’t live alone, so his grandson moved in with him. The grandson, who is
about twenty, has become a problem to our family. The walls of the building are thin and he is




noisy. We _ 13 peace and quiet, but the grandson likes to listen to the music late at night.

Sometimes friends of his visit, and they make a lot of noise. Everyone in my familyis 14 and

as a result is becoming more irritated. 15 yesterday evening, we again talked about the noisy

young man. We all agreed something had to be done.

Part I Vocabulary & Structure (15 minutes)

Directions: This part is to test your ability to use words and grammar correctly to construct

meaningful and grammatically correct sentences. It consists of 2 sections.

Section A
Directions: There are 10 incomplete statements here. You are required to complete each state-

16.

17.

18.

19.

20.

21.

22.

ment by choosing the appropriate answer from the 4 choices marked A), B), C)
and D). You should mark the corresponding letter on the Answer Sheet with a
single line through the centre.

They succeeded at last after adopting an working method.

A) effective B) efficient C) extreme D) eventual

Only after half a year to see the results of his experiment.

A) Timmy began B) Timmy had begun

C) has Timmy begun D) did Timmy begin

In fact, she had done all to help the disabled.

A) she could B) which she could

C) what she could D) as she could

The time will soon come each of us will be able to speak French well.

A) that B) when C) which D) so that

It was the training that he had as a young man made him such a good painter.
A) has B) that C) which D) what

We have received your telephone call, but will you please your message in writing?
A) consult B) mutual C) deliver D) confirm

terrible consequences.
A) lead to B) result from C) lay out D) cut down

Such a mistake would perhaps




A FREBRA M ML

seve

23. Is this looking for?
A) you are here B) that you are
C) where are you D) what you are
24. If she the problem well, she couldn’t have solved it.
A) has not studied B) shouldn’t studied
C) had not studied D) were not to study
25. We will go on a visit to Shanghai we have enough money.
A) provided B) unless . C) though D) however
Section B

Directions: There are also 10 incomplete statements here. You should fill in each blank with

26.

27.

28.

29,

30.

31.

32.

33.

34.

35.

the proper form of the word given in the brackets. Write the word or words in the
corresponding space on the Answer Sheet .

The Commander ordered that the building (blow) up.
The local government put forward a (propose) to improve public transportation.
But for your help, I (pass) that entrance examination.

Her 6 — year — old daughter is (impress) pretty and clever.

In many big cities, the (house) _ problem is still an unsolved problem.
Tom showed great (wise) ___ in what he said and did.

We'll have to put a beam to (strength) _ that wall.

The girl has grown more (skill) _ with the typewriter.

Generally, it takes people from a few minutes to an hour (get) to the airport.

Her friend will come to help her with computer the moment she (finish) her work.




Part I Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are S tasks for you to fulfill. You
should read the reading materials carefully and do the tasks as you are instructed .

Task 1

Directions: After reading the following passage, you will find 5 questions or unfinished
statements, numbered 36 through 40. For each question or statement there are 4
choices marked A), B), C) and D). You should make the correct choice and
mark the corresponding letter on the Answer Sheet with a single line through the
centre.

There was a time when, if a lady got onto a crowded bus or train, a gentleman would
immediately stand up and offer her his seat. Today a gentleman will probably look out of the
window or hide behind his newspaper. Either way, the lady will have to stand until someone
gets off.

You can’t entirely blame men for this change in manners. The days are gone when women
could be treated as the weaker sex. A whole generation of women has grown up demanding
equality with men; not just equality in jobs or education, but in social attitudes. Hold a door
open for some women and you’re likely to get an angry lecture on treating women as inferiors,
unable to open doors for themselves. Take a girl out for a meal and she will probably insist on
paying her share of the bill.

It's no wonder that men have given up some of the gestures of politeness and consideration
which they used to show towards women. On the other hand, men’ s politeness and considera-

tion for the needs and feelings of women, so that men can see women as equal human beings.

36. What do gentlemen now do when a lady gets on a crowded bus or train?
A) They will stand up unwillingly.
B) They will offer her their seats at once.
C) They will pretend not to see her.
D) They will get off the bus.

37. Why are some women likely to get angry when a man holds the door open for them?
A) Because the man should not have held the door open.
B) Because they think they are looked down upon.
C) Because they are treated too politely.

D) Because men are too manly.

38. What is taking the place of men’s gestures of politeness?

" O -
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A) More graceful reaction to women.

B) More equal treatment to women in every respect.
C) More consideration for women's needs and feelings.
D) More impolite reaction to women.

39. Which of the following statements is true?
A) Men have become less and less polite to women.
B) The women are considered as the weaker sex.
C) The women could not think highly of themselves.

D) Men’s attitudes towards women are reasonable.

40. What can we learn from the passage?
A) Men are beginning to treat women as equal human beings.
B) Men ought to do something useful for women.
C) Women have achieved equality with men.

D) Women should be treated as politely as men.

Task 2

Directions: This task is the same as Task 1. The 5 questions or unfinished statements are
numbered 41 through 45.

Are some people born clever, and others born stupid? Or is intelligence developed by our en-
vironment and our experience? Strangely enough, the answer to these questions is yes. To some
extent our intelligence is given to us at birth and no amount of special education can make a genius
out of a child born with low intelligence. On the other hand, a child who lives in a boring
environment will develop his or her intelligence less than one who lives in rich and varied sur-
roundings. Thus the limits to a person’s intelligence are fixed at birth, whether or not he reaches
those limits will depend on his environment. This opinion, now held by more experts, can be
supported in a number of ways. '

It is easy to show that intelligence is something we are born with. The closer the blood rela-
tionship between two people, the closer they are likely to be in intelligence. Thus if we choose
two unrelated people at random from the population, it is likely that their degree of intelligence
will be completely different. If we take two identical twins, they will very likely be as intelligent
as each other. Imagine now that we take two identical twins and put them indifferent environ-
ments. We might send one, for example, to a university and the other to a factory where the
work is boring. We would soon find differences in intelligence developing, and this indicates that
environment as well as birth plays a part. This conclusion is also suggested by the fact that people

who live in close contact with each other, but who are not related at all are likely to have similar




degree of intelligence.

41.

42.

43.

44.

If a boy born with low intelligence, he can

A) exceed his intelligence limits in rich surroundings
B) not reach his intelligence in his life

C) never become a genius

D) still become a genius if he could be given special education

In the second paragraph “if we choose two unrelated people at random from the popula-
tion. . .” means if we

A) take out two different persons

B) take two persons who are relative

C) pick any two persons

D) take two persons with identical intelligence

The example of the twins going to a university and a factory separately shows
A) the significance of their intelligence

B) the role of environment on intelligence

C) the part that birth plays

D) the importance of their positions

The writer is in favor of the view that man’s intelligence is given to him
A) at birth ‘

B) after birth

C) both at birth and through education

D) neither at birth nor through education

45. The best title of this passage can be
A) Surroundings B) Dependence on Environment
C) Intelligence D) Effect of education

Task 3

Directions: The following is a letter to complain about one product somebody bought. After

reading it, you should complete the information by filling in the blanks marked 46
through 50 in the table below. For each blank, you should write no more than 3
words .
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July 12, 2001

Dear Sirs,

I am sorry to have to return this camera I bought from your department store six days ago. I
also enclose the receipt.

When I had the films developed, none of the photos had come out. My local camera shop
says the mechanism is stuck.

I am really annoyed at this, since all the photos were taken at my cousin’s graduation cere-
mony. I am sure you can understand the loss of the photos has caused her great disappointment.

Owing to the inconvenience that this has caused I feel you should not only repair the camera,
but also compensate me for the loss of the photos.

I am looking forward to your response.

Sincerely Yours,

Linda

Some details about this letter
The problem of the camera is the mechanism _ 46
The buying date: 47
The photos were taken at her 48 .
The relationship between Linda and the recipient of the letter is customer and _ 49

All that Linda demands is both to repair the camera and to 50

Task 4

Directions: The following expressions are some vocabularies about eating and sightseeing.
After reading it, you are required to find the items equivalent to (5---+-%H])
those given in Chinese in the table below. Then you should put the corresponding
letters in the brackets on the Answer Sheet, numbered 51 through 55.

— historic sites

— guided tour

— ancient capital

— historic relic

Guest Greeting Pine
— hot spring

— hot dish

— needle work

— beef steak

— hot dog

bl e v c> B oo B w B @ T e~ A
I

=~
I

dessert




L — wood carving
M — tortoise shell
N — arts and crafts

O — beverage
P — toast

Example: (G) #3fg

() #¥a

51
52.
53.
54.
55.

NN N NN

T
) WENR
) [h 2Bk
) AEE
) 4HE

PN SN AN AN N

) R

) ITE

) #A

) IER

) W TE fh

Task 5

Directions: The following is a research paper about advertisement and products. After read-
ing it, you are required to complete the statements that follow (No. 56 through
No. 60). You should write your answers in no more than 3 words on the Answer
Sheet correspondingly.

Advertisers get psychologists to study the way consumers think and their reasons for choosing

one brand instead of another. These experts inform advertisers about recent studies with colors

and words. They have found that certain colors on package of an attractive product will cause

people to reach out and take that package instead of buying an identical product with different

colors.

Many people believe that advertising does not affect them. They like to think they make

wise choices. Unfortunately, they probably don’t realize the powerful effect of advertising.

They may not clearly understand that advertisers spend billions of dollars each year in competition

for our money, and they are extremely successful.

56. What should you know if you want consumers to buy your products?

We should know the

57. Who tells advertisers of recent studies with colors and words?

58. For what reason will people buy a certain product?

They will buy a certain product because of

59. What do you think of advertising according to the passage?

of its package.
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Advertising has a on people although many of them don’t
think so.

60. In which way do advertisers get people to buy their products?
They spend a lot of money in

Part IV Translation English into Chinese (15 minutes)

Directions: This part, numbered 61 to 65, is to test your ability to translate English into
Chinese. Each of the 4 sentences (No. 61 to No. 64) is followed by 4 choices of
suggested translation marked A), B), C) and D). Make the best choice and
mark the corresponding letter on the Answer Sheet. Write your translation of the
paragraph (No. 65) in the corresponding space on the Translation/ Composition
Sheet -

61. Mr. Kent believes that a manager ought to be able to do any job that he assigns to his
employees.
A) BREENR, AARAEANTIIE SEELZEMH.
B) B EAMELHELARRERNEMI/E EZEE.
C) FREEMAF - ITEETHRME AL T F K.
D) BEREENIEM—BFRETRMESE T RAENES.

62. He had gone some distance before he found the book missing.
A) EIBARRT ZHEET ALK
B) fiBET —&H T EABERET .
C) EMERBEZR, MEET —LihTr,
D) fET—BBEE, ARAHBET.

63. Most of the questions have been settled satisfactorily.
A) K4 EE&83 T ’%#EY.
B) WA ACHEBEY T KZ H R,
C) RZHREELHL AW R EY.
D) K¥4rREE S8 FHmIT o

64. He has said the last word on the matter.
A) EXHFHE EM—DABTH.
B) F/Efist X HFERE T E R
C) fhxdEH/ET &5k




D) MiB&RIXRTHRUBEFHRES L.

65. If you have had a part — time job, think what you gained from it. If nothing else, you may
have learned how to get to work on time, to follow instructions and to get on with older
workers. You may have learned to give correct change in a shop, for example. Just as im-
portant, you may become interested in a particular industry or a career by seeing it from the

inside in a part — time job.

Part V Writing (15 minutes)

Directions: This part is to test your ability to do practical writing. You are required to write
a letter according to the following instructions given in Chinese. Remember to
write the letter in no less than 80 words on the Translation/ Composition Sheet .
BREISM Mr. Black E—##if{5, AAER: KNEFRETLATEREAEDIL
KB 208 FrlEaE S, KRBT, FEFEMBRETH, HEEMHHRIR.
EE: LAEEXEEANTRE SEEH REANELFEREL.




